
The Canopus High Range IQ Test by Dr Jason Betts 
 
 
See the Score and Norming Data File at www.psiq.org/lux for the submission instructions and guidelines. 
The use of the internet and all reference materials is recommended to research all terms not fully understood. 
 
Find the answer that is simple, obvious, satisfies the greatest number of clues and has the simplest complexity. 
Ensure that the language and the context of the answer is consistent with the logic and phrasing of the question. 
 
 
1. Which word connects these words? darn, game, palm, tusk, wood      
 
2. Which word connects these words? helot, orals, splay, taros, tears      
 
3. Which word connects these words? gamic, hoers, molar, slate, tyros     
 
 
4. Which word does not belong?  clay, dirt, dust, sand, silt, soil      
 
5. Which word does not belong?  cook, cut, dice, peel, prepare, slice     
 
6. Which word does not belong?  avocado, chilli, mabolo, potato, tomato    
 
 
7. DEEM is to DEED,  as DEAD is to ?          
 
8. FROG is to INSECT,  as SCORPION is to ?         
 
9. JANUARY is to DOOR,  as SEPTEMBER is to ?        
 
10. PEN > SWORDFISH > COD,  as PIP < STARFRUIT  <  ?       
 
 
11. Decode these words:  E  R  R  E  ?  ?  A  T  T  A       
 
12. Decode these words:  CFH, D, B, Z, AJ, G, Z, Z, EI.      
 
13. Decode these words:  S  O  L  I  T  Q  C  ?  I  U  S  N  O  X      
 
 
14. What is the next word? Υ Θ Ε Τ Φ Ξ Υ Θ Ε Ν Ο Ο Ξ Α Ξ Δ Υ Θ Ε     
 
15. What is the next name? • ••• •• • • ••• ••    
 
16. What is the sum answer? | o |  +  || o ||  =  | o o | ,      || o o ||  +  || o ||  =     
 
 
17. 1,    1,    2,    2,    3,    4,    6,    7,                      ,                 
 
18. 3, 4, 5, 5, 6, 8, 9, 10, 12,                ,               ,                 
 
19. {1, three}, {2, three}, {                ,     }, {4, four}, {5, four} 
 
20. [0, 0; 0 : 1], [0, 0; 1 : 2], [0, 0; 2 : 3], [0, 0; 3 : 4], [               ,               ;               :               ] 
 


